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BASICO 2 - LISTA DE EXERCICIOS 07
(BASIC 2 — LIST OF EXERCISES 07)

1) Complete with the Comparative or Superlative form of the
adjectives in parenthesis:

a) Which is the (large) country in the world, China or Russia?
Russia is (large). It is than (big) China.

b) My brother is (intelligent) yours.

He is of his class.

c) Which is (heavy), one pound of cotton or one pound of
lead?

d) Joseph is (great). He is always helping us.
Vocabulary:

Pound = libra (0,453 kg).

Lead = chumbo.
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2) Complete the following questions using HOW OFTEN, HOW DEEP,
HOW WIDE, HOW BIG, HOW OLD, HOW LONG or HOW TALL:

a) is she?

She is thirty-five years old.

b) is your truck?

It is twenty-eight meters long.

c) do you exercise?

| work out three times a week.

d) is that TV screen?

It is forty-nine inches wide.

e) is that basketball player?

He is two meters and nine centimeters tall.

f) is your swimming pool?

It’s three meters deep.

g) is your house?

It’s huge. There are five bedrooms and seven bathrooms in it.
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3) Fill in the blanks with the future (BE GOING TO + VERB or PRESENT
CONTINUOUS) form of the verbs in parenthesis:

Example:

Paul (not/tell) anybody about this.

Possible answers:

Paul is not telling anybody about this. (PRESENT CONTINUOUS)

Paul is not going to tell anybody about this. (BE GOING TO + VERB)

a)l (visit) my grandmother tomorrow.
b) Where (you/stay) in New York?
c) Who else (play) at the concert?

d) What time (train/leave)?

e) She (not/regret) her decision.
Vocabulary:

To regret = arrepender-se.

Who else = quem mais.



